Pre-Calcuclus 12 7.4-7.6 Extra Practice Name:
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Al. Write log, y =z +2in exponential form. X = (j

A2. Write a=b""" in logarithmic form. oY, Q=cCc+l
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B3. Evaluate: 3log,| — |+=log, 64
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B4. Solve for x: a) logx=-3 b) log, 16+log3%=log5x
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Cl. Use benchmarks to estimate the value of :  a) log,25 b) log,14
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El-Evaluate the-above values exactly (round to the nearest hundredth — 2 decimal-places).

D1. Write as a single logarithm:

a) 2logm-+logn—5logp b) 3log a+%logb—%logc
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d) 2+4log, x—ilog3 y
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D2. Evaluate:

a) Iog224—log2(3) b) 3log42+log46+log4(§J
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D3. Write log in terms of logx , logy, and logz .
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D4. If log,x=6 and\log} y=2, evaluate log, (—2)
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F2. State the domain, range, and equation of the asymptote of:

a) y =logs(x-2)+1 b) y =log,(x+3) c) y=log,(x-3)+2
D X>2 A:X=2 D.'><>-S A X=-3 D:x>3 A:=x=3
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F1. Sketch the following. Label at least 3 points and the equation of the asymptote.
a) y=log,(x+2)+1 Lef+ 2 b) y=2log,(x—1) Right 1
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G1. Determlne the domain, range, equation of the asymptote, and intercepts of the graph in F.
Q) D:X>2 A:zX=-2 b) D:A>l RA-x=|
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